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LOGARITMOS 

Problema 97: 

Sabiendo que lg 3= 0,477121, hallar el log x en la expresión: 

𝑥 = 3 · ඨ3ට3√3 …
యయయ

 

Solución Problema 97:  

𝑥 = 3 · ඨ3ට3√3 …
యయయ

 

Tomamos logaritmos en los dos miembros de la ecuación: 

𝑙𝑜𝑔𝑥 = log [3 · ඨ3ට3√3 …
యయయ

] 

𝑙𝑜𝑔𝑥 = log ൦3 · ඨ3ට3√3 …
యయయ

൪ = 𝑙𝑜𝑔3 + log( ඨ3ට3√3 …
యయయ

) = 

= 𝑙𝑜𝑔3 + log (3ට3√3 …
యయ

)
ଵ
ଷ = 𝑙𝑜𝑔3 +

1

3
log (3ට3√3 …

యయ

) 

Pero: 

ቆ3ට3√3 …
యయ

ቇ = 𝑥 

Por tanto: 

𝑙𝑜𝑔𝑥 = 𝑙𝑜𝑔3 +
1

3
log 𝑥 

𝑙𝑜𝑔𝑥 −
1

3
log 𝑥 = 𝑙𝑜𝑔3 

3 log 𝑥 − 𝑙𝑜𝑔𝑥

3
= 𝑙𝑜𝑔3 
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2 log 𝑥

3
= 𝑙𝑜𝑔3 

2 log 𝑥 = 3 · 𝑙𝑜𝑔3 

log 𝑥 =
3 log 3

2
=

3 · 0,477121

2
=  

1,431363

2
= 0,7156815 

 

 

 

 

 

 


